# **Mandurah Catholic College**



YEAR EIGHT 2024

2024

24 526 08 B

# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 1st December 2023 Using "4MF7" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

### PREPACKAGED DELIVERY SERVICE

### HOME DELIVERY

Your order will be dispatched for FREE no later than the week ending 19th January 2024 but where possible will be dispatched earlier if placed on or before Friday 1st December 2023.

Orders placed after the 1st December will incur a late fee of up to \$17.50. Please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



### Please tick the items required in the box provided

 $\sqrt{\phantom{a}}$ Item Item Qty Unit Total Office Use Description No. Reqd Reqd Price \$ Amount \$

### YEAR EIGHT

Please note that there are digital products (eCode or cCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

### **DANCE UNIT A/B**

No Text Required

### **DESIGN TECHNOLOGY FOOD**

	No Text Required					
	DESIGN TECHNOLOGY MATERIALS					
P58510	DESIGN TECHNOLOGY MATERIALS  Erger Plantia Papail Large With Sleeve	1		1	0.40	0.40
P56112	Eraser Plastic Pencil Large With Sleeve  Marker Artline #220 Black 0.2mm	1		1	0.40	0.40 11.40
P56081	Marker Artline #220 Black 0.4mm  Marker Artline #200 Black 0.4mm	2		3	3.80	
		3		3	3.80	11.40
P56115	Marker Artline #210 Black 0.6mm	4		3	3.80	11.40
P50271	Pencil (HB) Goldfaber	5		2	0.65	1.30
P52092	Pencil (2H) Goldfaber	6		2	0.70	1.40
P50341	Pencils-Coloured 24's Faber Classic Colour	7		1	12.55	12.55
P56428	Safety Glasses Clear Wrap Around	8		1	6.45	6.45
	(Compulsory - Not goggle type)					
P56243	Sharpener Pencil Metal Double Hole (HQ)	9		1	1.15	1.15
	DIGITAL TECHNOLOGY					
P52358	Adapter USB-C3.1 to USB A	10		1	32.95	32.95
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	11		1	14.95	14.95
	DRAMA					
P51867	Visual Art Diary A4 110gsm 60 Sheet/120 Page Yellow Cover	12		1	9.95	9.95
	ENGLISH					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	13		2	1.65	3.30
P50345	Earphones Ear Bud Stereo Ultra Lightweight With Adapter	14		1	14.75	14.75
			_	·	0	0
	HEALTH EDUCATION					
	No Text Required					
	HUMANITIES & SOCIAL SCIENCES					
C04029	Mandurah Humanities Digital Resource w/ Print Activity Bk Y8	15	DIGITAL ITEM	1	59.90	59.90
	This item is Compulsory. Please purchase through Campion to ensu It contains a physical Activity Book (Oxford Big Ideas Humanities & Social for Humanities & Social Sciences (Oxford Big Ideas WA Humanities 8 WA access to your digital resource including log in details will be provided to the Please choose carefully before ordering this product as once purchased, the exchanged if you change your mind.	Sciences 8 ( A). The Activit he student di	Skills & Activities ty Book will be ind rect.	Book) a cluded ir	nd a digital your orde	resource r and
	If you have purchased a physical textbook (OBI HASS WA Student Book) delays to digital access and the Physical OBI HASS WA Skills <b>Activity Bo</b>			at this wi	ll result in p	ootential
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	16		2	1.65	3.30
P50373	Display Book A4 20 Pocket Cool Frost Orange Refillable	17		1	2.15	2.15
	INDONESIAN					
P17638	Bima 1 - Workbook (Print & Digital) [Michelle Kohler et al]	18		1	30.95	30.95
	Students will have this book from Year 7 Indonesian. Only purchase this b		nts are commenci			
P65021	Document Wallet FC Polydoc Clear	19		1	2.50	2.50

# Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ITALIAN					
P14600		20		4	C4 0F	C4 0F
F 14000	Ecco Uno SB/EB 2E [Sedunary]  Only purchase this book if student is commencing Italian in Year 8. Student this student book. The e-book has a 27 month access from activation.	20 s, who stu	died Year 7 Ita	1 Alian in 202	61.95 3 will alrea	61.95 ady have
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	21		1	1.65	1.65
	Students will need to have their own headphones for this subject.		_	•		
	MATHEMATICS					
	Please Choose ONE of the Options Below		Choose One			
	Option 1: Print & Digital					
C10192	Camb AC Essential Maths 8 3E Print & Digital (Provisioned)  This item contains a physical book (Cambridge Essential Maths Yr 8 3rd e will be included in your order and access to your digital resource including class. Please choose carefully before ordering this product as once purcha or exchanged if you change your mind.	log in deta	ails will be prov	urce for Ma vided to yo	u during	
	- OR -					
C10193	Option 2: Digital Only Camb AC Essential Maths 8 3E Digital (Provisioned)	23	DIGITAL ITE	M 1	59.95	59.95
0.0.00	This item contains a digital only resource for Mathematics (Cambridge Ess resource including log in details will be provided to you during class. Pleas purchased, this digital resource cannot be returned, refunded or exchange - OR -	sential Mat se choose	hs Yr 8 3rd ed carefully befor	ition). Acce	ess to your	digital
	Option 3: Digital Reactivation Code					
E20196	Digital Camb AC Essential Maths 8 Reactivation Code 3E	24	DIGITAL ITE	M 1	24.95	24.95
	This item should only be purchased if you have a second hand copy of the edition) and the code inside the front cover of this book has already been ordering this product as once purchased, this digital resource cannot be remind.	used and a	activated. Plea	se choose	carefully b	efore
P55278	Calculator Texas Scientific TI-30XB Multiview	25		1	37.95	37.95
P55446	Retain from previous year.  Display Book A4 20 Pocket Green Refillable	26		1	2 15	2.15
P52564	Grid Book A4 48 Page 5mm Grid Squares Spirax #132	20 27		5	2.15 1.25	6.25
1 32304	Glid Book A4 46 Fage Shill Glid Squales Spilax #132	21		5	1.25	0.25
	MEDIA					
P50844	Memory Card MicroSDHC 16GB Class10 with SD Adaptor-NO RETURN	28		1	14.95	14.95
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	29		1	1.65	1.65
P55443	Display Book A4 20 Pocket Navy Blue Refillable	30		1	2.15	2.15
	MUSIC					
P01696	Master Your Theory Grade 1 (Revised edn) [Dulcie Holland]	31		1	19.95	19.95
P55446	Display Book A4 20 Pocket Green Refillable	32		1	2.15	2.15
P51709	Music Manuscript Pad A4 96 Page Deluxe (Red Cover)	33	$\overline{\Box}$	1	6.95	6.95
P52001	Pencil (2B) Goldfaber	34		1	0.65	0.65
	OUTDOOR EDUCATION No Text Required					
	RELIGIOUS EDUCATION					
P55156	Binder Book A4 192 Page 8mm	35		1	6.75	6.75
	SCIENCE					
P52064	Binder A4 2D 25mm Zipper Lime with Tech Case Marbig	36		1	12.45	12.45
P55156	Binder Book A4 192 Page 8mm	37		2	6.75	13.50
	-					

## Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SCIENCE EXT MYTHBUSTING ZOO STEM WARS					
P52064	Binder A4 2D 25mm Zipper Lime with Tech Case Marbig	38		1	12.45	12.45
P50175	Display Book A4 40 Pocket Refillable	39		1	6.15	6.15
	SPECIALISED SPORT - BASKETBALL No Text Required					
	SPECIALISED SPORT - NETBALL No Text Required					
	No Text Required					
	VISUAL ART					
P58510	Eraser Plastic Pencil Large With Sleeve	40		1	0.40	0.40
P52001	Pencil (2B) Goldfaber	41		2	0.65	1.30
P56677	Visual Art Diary A3 60 Sheet 110gsm	42		1	9.95	9.95
	STATIONERY					
	THESE ITEMS CAN BE RETAINED FROM LAST YEAR IF APPLICABLE. SOME ITEMS MAY ALSO BE LISTED UNDER THE SUBJECTS.					
P50466	Correction Tape 5mm x 8m Marbig	43		1	5.00	5.00
P58510	Eraser Plastic Pencil Large With Sleeve	44	$\Box$	1	0.40	0.40
P51353	Glue Stick 40gm Artline Purple	45		1	2.75	2.75
P50186	Highlighter Marker - Yellow	46		1	1.60	1.60
P56095	Pen Ballpoint Cap Type Blue Medium	47		2	0.35	0.70
P56096	Pen Ballpoint Cap Type Red Medium	48		2	0.35	0.70
P56094	Pen Ballpoint Cap Type Black Medium	49		2	0.35	0.70
P50271	Pencil (HB) Goldfaber	50		1	0.65	0.65
P60067	Pencil Case 345x140mm Mesh	51		1	4.95	4.95
P58537	Pencils-Coloured 12's Faber Classic Colour	52		1	6.45	6.45
P56414	Ruler 300mm Plastic Clear	53		1	0.75	0.75
P58507	Scissors 155mm Plastic Handle	54		1	2.95	2.95
P56245	Sharpener Pencil Metal Single Hole (HQ)	55		1	0.85	0.85
P50383	Stapler #10 & Staples Little Gem Colby	56		1	4.75	4.75
	Number of Boxes ticked:					
	Postage (Home delivery only)		\$0.0	0		

**ESTIMATED AMOUNT DUE** (PRICES CORRECT AT 08/11/23)